
Subject: Re: Multilevel modeling in DHS-Sri Lanka
Posted by dga1n@soton.ac.uk on Mon, 03 Dec 2018 20:12:57 GMT
View Forum Message <> Reply to Message

Dear Tom,

Thanks for your reply and classification. I have nearly 25% of households which have two eligible
women completed the question on child birth weight. Hence, I was thinking of using my multilevel
model of using household as a grouping factor which shows 56%  of ICC instead of cluster which
had 7% of ICC.

Is this can be correct at the DHS survey? AS I could see many users only used cluster as the PSu
for multilevel models.I would like to know you opinion on this.

Thank You in advance 
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